=
<

(0 @) (rad)

1072

1

2 3
TPlpoT (PCA t%obeamlinélf)

=
<

a(d cot(d))

o
T

LTEY
wing

CMSSW_CKT

RECO

—=— DQM_VUUUI_RUUU00000T__Global__1 —CKT__RECC
—— DQM_V0001_R000000001__Global__CMSSW_mkFitOriginal

RECO

—— DQM_V0001_R000000001__Global_CMSSW_mkFitLowPtQuad__RECO
CMSSW_mkFitLowPtTriplet _ RECO

—— DOQM_V0001_R000000001__Global

SICEWATL

1

.910_%:

T E

o
107!

~ 1

=)

i

o

=)

o}
1074
1072E

o ¢

I

& 3

2
1

z

oo a,) (cm)

1072

10

Rati

+ ||

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


